KEBT DM BN RILEDGEREE

2 B i R (BEERY SN2FE

BEHEREN(D.2.Q) =k Db SHONO)

win| REBRBAREE | BEHEERRES | THREBRZE | HIESARMEE
[ EEES ] [ EEER ] [ ??Eﬁzfﬁ;’éﬁll)lixz] [ AR oE 2 T ]
TR EURA =12 TR E IR % TEREEIRA ITEHREIRA 12
BE
%IE 15.5m 8 8.94F 14.5%
Bl l1som A% 15,06 % i 10.0% 4 _E 30Mm B LLE
18.0MALLE 15.0F Ll E 10.0% K i5 3.0 AXE
s 2.8m B
BH =
24.0H B K i 0.0% A2 1.0MALLE
240M A LLE 00%LLT 1.0 A kKi&
BE
BEHRH SN IR
(f == TAT 2 ol 3 4\ ( 3 ) (. - 3
(M EDEEA) BEFEEKE IR B K #E FEIEKEE
(%) 1) Oh2amALLE 1) @H0%LLTF (1) @M1 BxXRiE
(X ETA) Fr=lx F1-1% F1-1%
2 O 18MALLE. (2) @H'10%FHE. (2) @I 3IMhAXRE.
\ hDo. @M15FELLE y L Mo, @M 15FLLE ) 9 fJ\’D\®75§10%5EfﬁJ
L aaey ) ( zuwy ) ( zuey )
(BHTfER) EHERED ESBYKR

= BEITASKRITEL =» BEITARSKRICEN

X1 REEB=AERES+ANFRERLIE-FEIEF
ARFREELYE=AFRBTAIHTER+ AELERFHFRETREF

X2 TBHEFBINX =1TEEEIRA —TEREEXH

X3 BiIEERS=mitRE+MBARES+REEE+TOMBFEENES

THSEEDRAL (FTH2EEENDELR)
XEEH THEEIX

B A
WARBRAES | FHFafELE BIEFRS | TRREENA | ITEREEXH
D b 1= 0 D D




